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PARTA — (2 x 12 = 24 marks) |
Answer TWO of the followmg in about 500 words each
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'_ 1. “There are deﬁmte number of torts, out81de whlch no tortlous Liability anses"
Discuss. - :
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2.  Explain the law laid down in Rylands Vs Fletcher. ‘ 4 A
e@e e afli Gt st eupsdld wpra] AalwnurL sl gHoar clasEs.
3.  Distinguish between Public Nuisance and Private Nuisonce
Qur@g Qsreeaawb, gafls Agromeauybd Capubssgs.
‘ PART B—(2x7=14 marks)
Answer TWO of the following in about 300 words each: ‘
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4. Explain the various modes of discharge of torts.
SE wyaualb udGaup alfippepseer allaTsEs.

5.  Describe the essential ingredients of torts of defamation.
Sugipéarar (éHu 2L mgsmer alaufésaib.

6.  What are the principles laid down in Donoghue vs Stevenson? .
GLrrammg ardir e eueiazen aremp aupsdldr e maursdu Apdlipepsad wrea ?



PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of tile foHowi;;g.
GereumeuareupmieT BiEHHE Hm GHLUSET TGS
(a) Assault. '
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B (+)) Torts and Crime.

Answer TWO of the followmg by referring to relevant provisions of Law and decided

S LHgId GSHDLD.
(© ActofGod.
- Qpweustewd. |
(d) Doctrine of Common Employment.
C ‘Qurg uesfl> Gamur@.
(e) Exemplary Damages.
aéefsms GursE.
(® ° Scienter Rule. .
Qsflayy Heow o9d.
(g) Last Opportunity Rule.
. 8o ambiy 6.

PART D — (2 x 6 = 12 marks)

!

- cases. Give cogent reasons.
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‘A’ points a gun at ‘B’. ‘A’ knows that the gun is unloaded while ‘B’ does not
know that the gun is unloaded — Has ‘A’ committed any tort.

‘o eremuGuit g gjuurra;é]mu_l <) eranueueny Gprsdl f,l.@aamrm &gg}uun&eﬂuﬂm
@cwr@assﬂ Pooe aaug ‘@ aauaBmsE Opflyn eamd ‘g'ase Asflurg.
q(%g,@m §rmé]mgg§g]mmrrurr

Six carpenter entered into an inn and had some wine and bread. After having

taken the same they refused to pay for that — whether they committed any
tort? Discuss. -
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A barrel of wheat fell down from the window of a building occupled by ‘A’. ‘B’ a
passer by was injured. Discuss the liability of “A”.
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